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UNIT INPUTDT;
INTERFACE
USES CRT;
CONST MaxUnit = 200;
MaxPeriod = 24,
TYPE CoefFuelCost = RECORD
a,b,c : Real;
END;
CoefStartCost = RECORD
bl1,b2= Reai;

d —Real;
END;
ThermalUnit = RECORD

number : Byte;

cfuel : CoefFuelCost;

cstart : CoefStartCost;
pmin : Real;
pmax : Real;

minup : Shortlnt;
mindown: Shortlnt;
status : ShortInt;
END;
Requirement = RECORD

period : Byte;



VAR

FiTunit
FiReq
PtTunit

TunitNode

PtReq
RegqNode

PowerPt

PowerNode

CommitPt

demand : Word;
reserve : Word;
END;
= FILE OF ThermalUnit;
= FILE OF Requiremgnt;
= ATunitNode;
= RECORD
TunitRec : ThermalUnit;
LinkT  : PtTunit
END;
= AReqNode;
= RECORD
RegRec ' : Requirement;
LinkR'  : PtReq
END;
= APowerNode;
= -RECORD
Pr saReal:
LinkP : PowerPt
END;

ACommitNode;

Il

CommitNode = RECORD

Power
Commit
TunitF
RegF

Tup

Ur : Byte;

LinkU : CommitPt

END;
= ARRAY [1..MaxUnit] OF PowerPt;
= ARRAY [1..MaxUnit] OF CommitPt;

: FiTunit;
: FiReq;

: PtTunit;
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Rgp

nunit

: PtRegq;

: Byte;

nperiod : Byte;

VAR LeftCol,TopLine,Col,Line :

BEGIN
IF Nline >
IF NCol >
TopLine :=
IF TopLine
LeftCol :=

IF LeftCol

22 THEN Nline := 22;

75 THEN NCol := 75;

12 - Nline DIV 2 -3;

< 1 THEN TopLine :=

40 - NCol DIV 2 -3;
< 1 THEN LeftCol :=

Integer;

P : Power;
U : Commit;
_ TxFi : Text;
PROCEDURE DisplayBoard(NLine,NCol : Integer);
PROCEDURE DisplayFrame(NLine,NCol : Integer);
PROCEDURE InputDataT(VAR TunitF : FiTunit);
PROCEDURE InputDataR(VAR ReqF  : FiReq );
PROCEDURE PtrTunitFi(VAR TunitF = : FiTunit;
VAR Tup : PtTunit;
VAR nunit : Byte );
PROCEDURE PtrRegFi( VAR RegF : FiReq;
VAR Rgp : PtReq;-
VAR nperiod : Byte);
PROCEDURE InitPUptr( VAR P : Power;
VAR U : Commit;
nunit,nperiod  : Byte );
IMPLEMENTATION
{
PROCEDURE DisplayBoard(NLine,NCol : Integer);

1
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GotoXY(LeftCol,TopLine);  Write(",#201);
FOR Col := 1 TO NCol+2 DO
Write(#205);  Write(#187,");
FOR Line := TopLine+l TO TopLine+NLine+1 DO
BEGIN
GotoXY(LeftCol,line); Write(",#186,");
GotoXY (LeftCol+NCol+3,Line);
WriteLn(",#186,");
END;
GotoXY (LeftCol,TopLine+NLine+2); Write(",#200);
FOR Col := 1 TO Ncol+2 DO
Write(#205);  Write(#188,");

END; { Display Board }

PROCEDURE DisplayFrame(NLine,NCol : Integer);
VAR LeftCol,TopLine,Col,Line : Integer;
BEGIN
IF NLine > 20 THEN Nline := 20;
IF NCol > 73 THEN NCol := 73;
TopLine := 12 - Nline DIV 2 - 3;
IF TopLine < 1 THEN TopLine := 1;
LeftCol := 40 - NCol DIV 2-3;
IF LeftCol < 1 THEN LeftCol := 1;
GotoXY (LeftCol,TopLine);  Write("#201); -
FOR Col := 1 TO Ncol+2 DO
Write(#205);  Write(#187,");
GotoXY (LeftCol,TopLine+1); Write(",#186,");
GotoXY (LeftCol+NCol+3,TopLine+1); Write(",#186,™);
GotoXY(LeftCol, TopLine+2); Write("#204,");
FOR Col := 1 TO NCol+2 DO

91



Write(#205); Write(",#185,");
FOR Line := TopLine+3 TO TopLine+NLine+1 DO
BEGIN
GotoXY (LeftCol,line); Write(",#186,");
GotoXY (LeftCol+NCol+3,Line);
WriteLn(",#186,");
END;
GotoXY(LeftCol, TopLine+NLine+2); Write(";#204,");
FOR Col := 1 TO Ncol+2 DO
Write(#205); Write(",#185,");
GotoXY (LeftCol, TopLine+NLine+3); Write(",#186,");
GotoXY (LeftCol+NCol+3,TopLine+NLine+3); Write(",#186,");
GotoX Y (LeftCol, TopLine+NLine+4); Write(",#200);
FOR Col := 1 TO Ncol+2 DO
Write(#205); Write(#188,");

END; { Display Frame }

PROCEDURE InputDataT(VAR TunitF : FiTunit);
VAR TunitRec : ThermalUnit;
option : char;
PROCEDURE PrepareT(VAR TunitF : FiTunit);
VAR finame : String[10];
BEGIN
DisplayBoard(22,72); GotoXY(12,8);
Write('Thermal Unit Data - File Name : ');
ReadLn(finame);
Assign(TunitF finame);
{$I-} Reset(TunitF); {$I+}
IF Ioresult <~ 0 THEN
BEGIN

92



GotoXY(12,10);
Write(' Create a NEW data file (Y/N) ? );
IF UpCase(ReadKey) = "Y' THEN
BEGIN
GotoXY(12,12);
WriteLn('Create =>> NEW data file ...");
Rewrite(TunitF);
Close(TunitF);
END
ELSE Halt;
END; { IF IO }
END; { PrepareT }

FUNCTION GetDataT(VAR TunitRec : ThermalUnit) : Boolean;
VAR nber,k : Byte;
BEGIN
Cirscr; DisplayBoard (22,72);
k = 7; GotoXY(7,k);
Write('Unit number : '); ReadLn(nber);
IF nber = 0 THEN GetDataT := False
ELSE
WITH TunitRec DO
BEGIN { TunitRec }
number := nber; GotoXY(7.k+2);
WriteLn(' Fuel Cost = a+ bP + cP**¥2 );
WITH cfuel DO
BEGIN
GotoXY(7,k+3 ); Write(==> a = '); ReadLn(a);
GotoXY(27,k+3); Write( b= "); ReadLn(b);
GotoXY(47.k+3); Write( ¢ = "); ReadLn(c);
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END; |{ cfuel }
GotoXY (7,k+5);
WriteLn('Start Up Cost = b1( 1 - exp(-x/T) ) + b2 ');
WITH éstart DO
BEGIN
GotoXY(7,k+6 ); Write('==> bl = "); ReadLn(bl);
GotoXY (27,k+6); Write(' b2 = "); ReadLn(b2);
GotoXY (47,k+6); Write(' T = "); ReadLn(d);
END; { cstart }
GotoX Y (7.k+8);
Write('Minimum power > Pmin (mw) =");
ReadLn(pmin); ~ GotoXY (7,k+9);
Write('Maximum power > Pmax (mw) =");
ReadLn(pmax); GotoXY(7.k+10);
Write('Minimum Up Time > MinUp(hr) =");
ReadLn(minup); GotoXY(7,k+11);
Write('Minimum Down Time > MinDn(hr) = ");
ReadLn(mindown); GotoXY(7,k+12);
Write('Status at t =0 > X(0) ="
ReadLn(status);
GetDataT := True;
END; { TunitRec }

END; { GetDataT }

PROCEDURE DatalnputT(VAR TunitF : FiTunit);
VAR TunitRec : ThermalUnit;
BEGIN

Reset(TunitF);

Seek(TunitF,Filesize(TunitF));

WHILE GetDataT(TunitRec) DO



Write(TunitF, TunitRec);
Close(TunitF);

END; { DatalnputT }

PROCEDURE DispRecT(TunitRec : ThermalUnitk :
BEGIN
WITH TunitRec DO
BEGIN
GotoXY(7,k); WriteLn('Unit no. ',number);
WITH cfuel DO
BEGIN
GotoXY(7,k+1); Write(Fuel Cost = ");
WriteLn(a:9:2," + ',b:9:4,' P + ',c:9:6,’ P**2');
END;
WITH cstart DO
BEGIN
GotoXY(7.,k+2); Write('Start up Cost = '5;
WriteLn(b1:9:2,'( 1 - exp(-x/,d:4:1,")) +',b2:7:2);

END;

GotoXY(7.k+3);

Write(Min. Power = ',pmin:6:1,' mw.");
WriteLn(' Max. Power = ',pmax:6:1,' mw.");
GotoXY(7,k+4);

Write(‘Min. Up Time = 'minup:3," hr.");
WriteLn( Min. Down Time = 'jmindown:3," hr");
GotoXY(7,k+5);
WriteLn('Initial Status x(0) = ',status:3);

END; { TunitRec }

END; { DispRecT }
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PROCEDURE DispDataT(VAR TunitF : FiTunit);
. VAR TunitRec : ThermalUnit;
ch : Char; cntr,k : byte;
BEGIN
Clrscr;  DisplayBoard(22,72);
Reset(TunitF); cntr :== 0; k = 3;
WHILE NOT EOF(TunitF) DO

BEGIN
cntr = cntr + 1;
Read(TunitF, TunitRec);

GotoXY(6,k); DispRecT(TunitRec,k);
k =k + 7;
IF cntr MOD 3 = 0 THEN
Begin
ch = ReadKey; k := 3;
Clrscr; DisplayBoard(22,72);
End;
END;
Close(TunitF); GotoXY(6,k+4);
WriteLn(" Total Thermal Units = ',cntr:3,' unit");
ch := ReadKey;

END; { DispDataT }

FUNCTION GetDTch(VAR TunitRec : ThermalUnit) : Boolean;
VAR nber,k : Byte;
BEGIN

k = 10; GotoXY(7,k);

Write('Unit number : '); ReadLn(nber);

IF nber = 0 THEN GetDTch := False

ELSE
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WITH TunitRec DO
BEGIN { TunitRec }
number := nber; GotoXY(7k+1);
Write('Change => Fuel Cost (Y/N) ? ');
IF UpCase(ReadKey) = 'Y' THEN
BEGIN { cfuel cost }
GotoXY(7,k+2);
WriteLn('Fuel Cost = a + bP + cP**2 "),
WITH cfuel DO

BEGIN

I

GotoXY(7,k+3 ); Write('==> a "); ReadLn(a);
GotoXY(27,k+3); Write(' b = "); ReadLn(b);
GotoXY(47,k+3); Write(' c = "); ReadLn(c);

END;
END; { cfuel cost }

GotoXY (7,k+4);

Write(' Change => Start Up Cost (Y/N) ? ")

IF UpCase(ReadKey) = "Y' THEN

BEGIN | cstart cost }

GotoXY(7,k+5);
WriteLn('Start Up Cost = bl( 1 -exp(-x/T) ) + b2 );
WITH cstart DO
BEGIN
GotoXY(7,k+6 ); Write( => bl = '"); ReadLn(bl);
GotoXY(27,k+6); Write(' b2 = '); ReadLn(b2);
GotoXY(47,k+6); Write(' ’T = "); ReadLn(d);
END; { cstart }

END; { cstart cost }

GotoXY (7,k+8);

Write(' Change => Min. & Max. Power (Y/N) ? %),



IF UpCase(ReadKey) = 'Y' THEN
BEGIN { min & max power }
GotoXY(7,k+9); Write(' ==> Pmin (mw) = ");
ReadLn(pmin); GotoXY(32,k+9);
Write(" Pmax (mw) = '); ReadLn(pmax);
END; { min & max power }
GotoXY(7,k+10);
Write(' Change => Min. Up & Down Time (Y/N) ? );
IF UpCase(ReadKey) = 'Y' THEN
BEGIN { up & down time |}
GotoXY(7,k+11); Write('==> Min. Up(hr) = ");
ReadLn(minup); GotoXY(32,k+11);
Write(" Min. Dn(hr) = "); ReadLn(mindown);
END; { up & down time }
GotoXY(7,k+12);
Write(" Change => Initial Status (Y/N) ? ");
IF UpCase(ReadKey) = 'Y' THEN
BEGIN
GotoXY(7,k+13); Write(' ==> X(0) = ");
ReadLn(status); END;
GetDTch := True;
END; { TunitRec }

END; { GetDataT }

PROCEDURE ChangeDataT(VAR TunitF : FiTunit);
VAR TunitRec : ThermalUnit;
nber : Byte;
done : Boolean;
BEGIN
Clrscr; DisplayBoard(23,72);



Reset(TunitF); GotoXY(7,2);
Write(' Unit number - to be corrected '); ReadLn(nber);
WHILE nber <> 0 DO
BEGIN
done := False; Seek(TunitF,0);
WHILE NOT EOF(TunitF) AND NOT done DO
BEGIN
Read(TunitF,TunitRec);
IF TunitRec.number = nber THEN
BEGIN
done := True; DispRecT(TunitRec,3);
IF GetDTch(TunitRec) THEN
BEGIN
Seek(TunitF,FilePos(TunitF)-1);
Write(TunitF, TunitRec);
DispRecT(TunitRec,3);
END; { IF Get }
END; { IF Tunit }
END; { WHILE NOT }
GotoXY(7,24);
Write(' unit number - to be corrected );
ReadLn(nber); Clrscr; DisplayBoard(23,72);
END; { WHILE }
Close(TunitF);
END; { ChangeDataT }

PROCEDURE GetOptionT(VAR option : Char);
BEGIN

Clrscr;  DisplayFrame(5,20);

GotoXY(30,8); WriteLn(" Thermal Unit Data ");



GotoXY(30,10); WriteLn(" I - Input )
GotoXY(30,11); WriteLn( D - Display );
GotoXY(30,12); WriteLn(' C - Change %
GotoXY(30,13); WriteLn( E - Exit ;
GotoXY(30,15); WriteLn(" Option ==>> s
REPEAT

GotoXY(43,15);

option := UpCase(ReadKey)
UNTIL option in [[I,D'C"E];
WriteLn(option);

END; { GetOptionT }

BEGIN
Clrscr;
PrepareT(TunitF);
REPEAT
GetOptionT(option);
Case option OF
T : DatalnputT(TunitF);
'D' : DispDataT(TunitF);
'C' : ChangeDataT(TunitF);
'E' : WriteLn;
END ({case}
UNTIL option = 'E}
END; { InputDataT }
{

PROCEDURE InputDataR(VAR RegF : FiReq);
VAR ReqRec : Requirement;
option  : char;

PROCEDURE DatalputR(VAR RegF : FiReq);
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VAR RegRec : Requirement;

ct : Byte;

PROCEDURE Head;

VAR n : Byte;

BEGIN

DisplayBoard(15,50);

GotoXY(25,1); Write(' INPUT Requirement Data');
GotoXY(17,3); Write(' Period [Hr] ");
GotoXY(33,3); Write(' Demand [MW]");
GotoXY(49,3); Write(" Reserve [MW]');
GotoXY(13,4); FOR n =1 TO 13 DO

Write(‘'====");

END; { Head }

BEGIN
Clrscr; Reset(ReqF); Head;
FOR ct := 1 TO 24 DO
BEGIN
Seek(RegF,Filesize(ReqF));
WITH ReqRec DO
BEGIN { ReqRec }
period = ct;
IF ct < 13 THEN
Begin
GotoXY(20,ct+5); Write(period : 3);
GotoXY(35,ct+5); ReadLn(demand);
GotoXY(53,ct+5); ReadLn(reserve)
End
ELSE  Begin
GotoXY(20,ct-7); Write(period : 3);
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GotoXY(35,ct-7); ReadLn(demand);
GotoXY(53,ct-7); ReadLn(reserve);
End;
IF ct = 12 THEN
Begin
Clrscr; Head;
End;
END; { ReqRec }
Write(ReqF,ReqRec);
END;
Close(RegF);
END; { DatalnputR }

PROCEDURE PrepareR(VAR ReqF : FiReq);
VAR finame : String[10];
BEGIN
DisplayBoard(22,72); GotoXY(12,8);
Write(' Demand & Reserve Requirement - File Name : *);
ReadLn(finame); |
Assign(RegF,finame);
{$1-} Reset(RegF); {$I+}
IF ioresult < 0 THEN
BEGIN
GotoXY(12,10);
Write(' Create a NEW data File (Y/N) ? )
IF UpCase(ReadKey) = 'Y' THEN
BEGIN
GotoXY(12,12);
WriteLn(' Create >>> NEW data file ..");

Rewrite(ReqF); Close(ReqF);



DatalputR(ReqF);
END ELSE Halt;
END; { IF IO }
END; { PrepareR }

PROCEDURE DispRecR(ReqRec : Requirement);
BEGIN
WITH RegRec DO
BEGIN
Write(period:8);
Write('l' : 8, demand : 9,'1' : 8);
WriteLn(reserve : 9);
END;
END; { DispRecR }

PROCEDURE DispRecRc(ReqRec : Requirement; k : Byte);
BEGIN
WITH RegRec DO
BEGIN
GotoXY(8,k); Write(" Period ', period : 4);
GotoXY(8,k+1); Write(' Demand = ', demand : 6, MW.');
GotoXY(36,k+1); Write(' Reserve = ', reserve : 6, MW Big
END;

END; { DispRecRc }

PROCEDURE DispDataR(VAR RegF : FiReq);
VAR  ReqRec : Requirement;
ch : Char; cntr : byte;
PROCEDURE Head;
VAR n: Byte;
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BEGIN
DisplayBoard(15,50);
GotoXY(17,3); Write(' Period [Hr]');
GotoXY(33,3); Write(" Demand [MW]";
GotoXY(49,3); Write(' Reserve [MW]');

GotoXY(13,4); FOR n := 1 TO 13 DO

Write('=—==");
END; { Head }

BEGIN

Clrscr; Reset(RegF);

Head; cntr = 0;

WHILE NOT EOFRegF) DO

BEGIN
cntr = cntr + 1;
Read(ReqF,ReqRec);
GotoXY(14,5+cntr);
DispRecR(ReqRec);
IF cntr MOD 12 = 0 THEN
Begin

ch := ReadKey;

Clrscr; Head;
catr "= 0;
End;
END;
Close(RegF);

END; { DispDataR }

PROCEDURE ChangeDataR(VAR RegF : FiReq);

VAR ReqRec : Requirement;
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priod,k : Byte; done : Boolean;
BEGIN
Clrscr;  DisplayBoard(22,70);
Reset(ReqF); GotoXY(7,4);
Write(' Time ( period ) - to be corrected ");
ReadLn(priod); k := 5;
WHILE priod < 0 DO
BEGIN
done := False; Seek(ReqF,0);
WHILE NOT EOF(ReqF) AND NOT done DO
BEGIN
Read(RegF,ReqRec);
IF ReqRec.period = priod THEN
BEGIN
done := True; DispRecRc(RegRec,k);
WITH ReqRec DO
BEGIN
k = k+2; GotoXY(8,k);
Write(' Period ', period : 4);
GotoXY(8,k+1); Write( Demand [ MW ] = ");
ReadLn(demand); GotoXY(36.k+1);
Write(Reserve [MW ] = ) ReadLn(reserve);
END;
Seek(ReqF, FilePos(RegF) - 1);
Write(ReqF,ReqRec);
END;
END; { WHILE eof }
IF k > 16 THEN
Begin
Clrscr; DisplayBoard(22,70);
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GotoXY(7,4); k := 5;
End ELSE  Begin
GotoXY(7,k+3); k := k+4;
End; .
Write(' Time ( period ) - to be corrected ');
ReadLn(priod);
END; { WHILE priod }
Close(RegF);
END; { ChangeDataR }

PROCEDURE GetOptionR(VAR option : Char);
BEGIN
Clrscr; DisplayFrame(5,20);
GotoXY(30,8); WriteLn(' Requirement Data );
GotoXY(30,10); WriteLn(' D - Display );
GotoXY(30,11); WriteLn(' C - Change %
GotoXY(30,13); WriteLn(' E - Exit 5:
GotoXY(30,15); WriteLn(" Option ==>> )z
REPEAT
GotoXY(42,15);
option := UpCase(ReadKey)
UNTIL option in [D,'C,E'];
WriteLn(option);
END; { GetOptionR }

BEGIN { InputDataR }
Clrscr;
PrepareR(ReqF);
REPEAT

GetOptionR(option);



Case option OF
'D' : DispDataR(ReqF);
'C' : ChangeDataR(ReqF);
'E' : WriteLn;

END {case}

UNTIL option = 'E';

END;

{ InputDataR }

{

PROCEDURE PtTunitFi( VAR TunitF : FiTunit; VAR Tup

VAR

BEGIN

VAR nunit : Byte);

tem,dum : PtTunit;

Reset(TunitF);
Tup := nil; nunit = 0;
WHILE NOT EOF(TunitF) DO
Begin
New(dum); nunit := punit + 1;
IF Tup = nil THEN Tup := dum
ELSE tem/.LinkT := dum;
tem := dum;
Read(TunitF,tem”.TunitRec);
End;
temA LinkT := nil;

Close(TunitF);

END; { Pointer - Thermal Unit File }

: PtTunit;

PROCEDURE PtuRegFi( VAR ReqF : FiReq; VAR Rgp : PtReq;

VAR
BEGIN

VAR nperiod : Byte);

tem,dum : PtReq;
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Reset(ReqF);
Rgp := nil; nperiod := 0;
WHILE NOT EOF(ReqF) DO
Begin
New(dum); nperiod := nperiod + 1;
IF Rgp = nil THEN Rqp := dum
ELSE tem”LinkR := dum;
tem := dum;
Read(ReqF,tem”.ReqRec);
End;
tem/N.LinkR := nil;
Close(ReqF);

END; { Pointer - Requirement File }

{

PROCEDURE InitPUptr( VAR P : Power; VAR U :

nunit,nperiod : Byte);
VAR pl,p2 : PowerPt; L teE Byte;
ul,u2 : CommitPt;
BEGIN
FOR i := 1 TO nunit DO
Begin { Power }
P[i] = nil;
FOR t := 1 TO nperiod DO
Begin
New(pl);
IF P[i] = nil THEN P[i] := pl
ELSE p2ALinkP := pl;
p2 = pl;
p2APr = 0.0;
End;

Commit;
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p2A.LinkP := nil;
End; { Power }
FOR i := 1 TO nunit DO
Begin { Commitment }
U[i] := nil;
FOR t := 1 TO nperiod DO
Begin
New(ul);
IF U[i] = nil THEN Ul[i]
ELSE u2ALinkU := ul;
u2 = W3
wAUr = 5;
End;
u2ALinkU := nil;
End; { Commitment }

END; | Initial Power & Commitment }

ul

{..._____

END.
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UNIT TSUBPROP;

INTERFACE

USES CRT,INPUTDT;

TYPE PathT = ARRAY [ 1..MaxPeriod,-36..36 ] OF ShortInt; '
ValueT = ARRAY [ -36..36,0..MaxPeriod ] OF Real;
UnitState = ARRAY [ 0..MaxPeriod,1..50 ] OF ShortInt;

StateVector = ARRAY [ 0..MaxPeriod ] OF Byte;

LgrMtiplier = ARRAY [ 1.MaxPeriod ] OF Real;
TunitArry = ARRAY [1..MaxUnit] OF Real;
VAR Imd,mue : LgrMtiplier;
Vsub : TunitArry;
PROCEDURE CostMup ( VAR tmp : PtTunit; VAR Vxt,Pxt : ValueT;
Imd,mue : LgrMtiplier; t,nl : Byte;
VAR Ustate : UnitState;VAR Path : PathT );
PROCEDURE CostMdn ( VAR VxtPxt : ValueT; tnl : Byte;
VAR Ustate : UnitState;VAR Path : PathT );
PROCEDURE CostUpDn ( VAR VxtPxt : ValueT; tnl : Byte;
Ustate : UnitState; VAR Path : PathT;
VAR OneM : StateVector );
PROCEDURE CostDnUp ( VAR tmp : PtTunit; Imd,mue : LgrMtiplier;
VAR VxtPxt : ValueT; tnl : Byte;
Ustate : UnitState; VAR Path : PathT;
VAR OneP : StateVector );
PROCEDURE StateOfUnit ( VAR tmp : PtTunit; nperiod : Byte;
VAR Path : PathT; lmd,mue : LgrMtiplier;
VAR VxtPxt : ValueT );
PROCEDURE RecoveryPath ( VAR pt : PowerPt; VAR ut : CommitPt;

VAR Vsub : TunitArry; i,nperiod : Byte;

Path : PathT; VxtPxt : ValueT );
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PROCEDURE TsubProblem ( VAR P : Power; VAR U : Commit;
VAR Vsub : TunitArry; VAR Tup : PtTunit;
Imd,mue : LgrMtiplier; nperiod : Byte );
IMPLEMENTATION

{

.PROCEDURE CostMup ( VAR tmp : PtTunit; VAR VxtPxt : ValueT;
Imd,mue : LgrMtiplier; t,nl : Byte;
VAR Ustate : UnitState; VAR Path : PathT )
VAR Vmn,Vmx,cl,c2 : Real;
xtl,xt : Shortlnt; t1 : Byte;
Pmn,Pmx : Real;
FUNCTION FuelCostl ( VAR tmp : PtTunit ) : Real;
VAR k1,k2k3,p : Real;
BEGIN
k1l := tmp/.TunitRec.cfuel.a;
k2 := tmp/.TunitRec.cfuel.b;
k3 := tmp/.TunitRec.cfuel.c;
p = tmpA.TunitRec.pmin;
FuelCostl := k1 + (k2*p ) + ( k3*p*p)
END; { FuelCostPmin }
FUNCTION  FuelCost2 ( VAR tmp : PtTunit ) : Real;
VAR k1,k2k3,p : Real;
BEGIN
k1l := tmp/.TunitRec.cfuel.a;
k2 := tmp/.TunitRec.cfuel.b;
k3 := tmp/.TunitRec.cfuel.c;
p = tmp . TunitRec.pmax;
FuelCost2 := k1l + ( k2*p ) + (k3*p*p )
END; { FuelCostPmax }
BEGIN



tl = t-1;

Ustate [ t,nl ] := Ustate [ t1,nl ] + 1;
cl := FuelCostl (tmp);

c2 := FuelCost2 (tmp);

Pmn := tmp”.TunitRec.pmin;

Pmx := tmp”.TunitRec.pmax;

xtl := Ustate [tl,nl];

xt := Ustate [t,nl];

Path[txt] = xtl;

Vmn := cl - ( Imd [t]*Pmn ) - ( mue [t]*Pmx );

Vmx c2 - ( Imd [t]*Pmx ) - ( mue [t]*Pmx );

IF Vmn < Vmx

THEN Begin
Vxt [xt,t] = Vmn + Vxt [xtl,t1];
Pxt [xt,t] := Pmn
End
ELSE Begin

Vxt [xt,t] = Vmx + Vxt [xtl,tl];
Pxt [xtt] := Pmx
End;

END; { CostMustUp }

PROCEDURE CostMdn ( VAR VxtPxt : ValueT; t,nl : Byte;

VAR Ustate : UnitState; VAR Path : PathT X

VAR xtlxt : Shortlnt; tl : Byte;
BEGIN
it = t-1;

Ustate [t,nl] := Ustate [tl1,nl] - 1;
xtl := Ustate[tl,nl];

xt := Ustate[t,nl];
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Vxt [xtt] = Vxt [xtl,tl];
Pxt [xtt] = O;
Path [txt] = xtl;

END; { CostMustDown }

-PROCEDURE CostUpDn ( VAR VxtPxt : ValueT; tnl

Ustate : UnitState; VAR Path :

VAR OneM : StateVector );
VAR xtxtl,k : Shortlnt;
t1 : Byte;
BEGIN
tl = t-1;
xtl := Ustate[tl,nl];
xt = -1
OneM [t] := OneM [t] +1;
IF OneM[t] =1
THEN Begin
Vxt [xtt] = Vxt [xtl,tl];
Pxt [xtt] = 0;
Path [txt] = xtl
End
ELSE Begin
IF Vxt [xtl,tl1] < Vxt [xt,t]
THEN Begin
Vxt [xt,t] = Vxt [xtl,t1];

Path [txt] = xtl;

[

End;
End;
END; { CostUpToDown }

: Byte;

PathT;
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PROCEDURE CostDnUp ( VAR tmp : PtTunit; Imd,mue :

VAR

VAR VxtPxt : ValueT; tnl
Ustate : UnitState; VAR Path
VAR OneP : StateVector );

Vmn,Vmx,Vm : Real;

cl,c2,St,Temp : Real;

xtl,xt,k : Shortlnt;

Pmn,Pmx : Real;

tl : Byte;

FUNCTION FuelCostl ( VAR tmp : PtTunit ) : Real;

VAR k1,k2,k3,p : Real;

BEGIN

k1l := tmp/.TunitRec.cfuel.a;
k2 := tmp/.TunitRec.cfuel.b;
k3 := tmp/.TunitRec.cfuel.c;
p = tmp . TunitRec.pmin;
FuelCostl := k1 + (k2*p ) + (k3*p*p )

END; { FuelCostPmin }

FUNCTION FuelCost2 ( VAR tmp : PtTunit ) : Real;

VAR k1,k2k3,p : Real;

BEGIN

k1l := tmp’.TunitRec.cfuel.a;
k2 := tmp".TunitRec.cfuel.b;
k3 := tmp/.TunitRec.cfuel.c;
p := tmp/.TunitRec.pmax;
FuelCost2 := k1 + ( k2*p ) + ( k3*p*p )

END; { FuelCostPmax }

FUNCTION StartCost ( VAR tmp : PtTunit; Ustate :

tnl : Byte) : Real;

VAR kl1,k2k3,s : Real;

LgrMtiplier;
Byte;
: PathT;

UnitState;
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X : Shortlnt; t1 : Byte;
BEGIN

t1 =t=-1;
k1l := tmp/.TunitRec.cstart.bl;
k2 := tmp/.TunitRec.cstart.b2;
s = tmp/.TunitRec.cstart.d;
x = Ustate [t1,nl];
k3 = 1-Exp(x/s);
StartCost := ( k1*k3 ) + k2

END; { StartUpCost }

BEGIN
cl = FuelCostl (tmp);
c2 := FuelCost2 (tmp);
St = StartCost (tmp,Ustate,t,nl);
tl =t - 1
xtl := Ustate [tl,nl];
xt = 1;
Pmn := tmp".TunitRec.pmin;
Pmx := tmp/.TunitRec.pmax;

OneP [t] := OneP [t] + 1;
Vmn := cl - ( Imd [t]*Pmn ) - ( mue [t]*Pmx );
Vmx := c2 - ( Imd [t]*Pmx ) - ( mue [t]*Pmx );
IF Vmn < Vmx
THEN Begin

Vm := Vmn;

Pxt [xt,t] := Pmn

End

ELSE Begin

Vm = Vmx;

Pxt [xt,t] = Pmx



End;
IF OneP [t] = 1
THEN Begin
Vxt [xtt] == Vm + St + Vxt [xtl,tl];
Path [txt] = xtl
End

ELSE Begin
Temp := Vm + St + Vxt [xtl,tl];

IF Temp < Vxt [xtt]
THEN Begin
Vxt [xt,t] := Temp;
Path [txt] := xtl;
End;
End;

END; { CostDownToUp }

PROCEDURE  StateOfUnit ( VAR tmp : PtTunit; nperiod : Byte;
VAR Path : PathT; Imd,mue : LgrMtiplier;
VAR VxtPxt : ValueT );
VAR  Nstate,OneP,OneM : StateVector;
Ustate . UnitState;
mu,md : Shortlnt;
nl,ttl : Byte;
PROCEDURE Pathlnitial ( VAR Path : PathT; nperiod : Byte);
VAR t : Byte; xt : Shortint;
BEGIN
FOR t = 1 TO nperiod DO
FOR xt := -36 TO 36 DO
BEGIN
Path[txt] = 0;
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END;
END; { Pathlnitialize }

PROCEDURE Vxtlnitial ( VAR Vxt :

VAR t : Byte; xt : Shortlnt;
BEGIN
FOR xt := -12 TO 12 DO
Vxt [xt,0] = 0.0;
t := nperiod;
FOR xt := -36 TO 36 DO
Begin
Vxt [xtt] = 9.0E10;
End;
END; { Vxtlnitialize }

ValueT; nperiod :

Byte);

PROCEDURE OnePMinit ( VAR OneP,OneM : StateVector;

nperiod :

VAR t : Byte;
BEGIN
FOR t := 1 TO nperiod DO
BEGIN
OneP [t] = 0;
OneM [t] := 0
END;
END; { OnePMinitialize }

PROCEDURE OnePMstate ( VAR Ustate

Byte);

VAR Nstate,OneP,OneM :

BEGIN
IF OneP [t] >= 1
THEN Begin
nl = nl +1;

Ustate [t,nl] = 1

: UnitState; t,nl

: Byte;

StateVector );

117



, End;
IF OneM [t] >= 1
THEN Begin
.nl = nl +1;
Ustate [t,nl] = -1
End;
Nstate [t] := nl;
END; { OnePMstate }
BEGIN
PathlInitial ( Path,nperiod );
Vxtlnitial ( Vxt,nperiod );
OnePMinit ( OneP,OneM,nperiod );
Nstate [0] = 1;
Ustate [0,1] := tmp/.TunitRec.status;
mu := tmpN.TunitRec.minup;
md := -tmp”.TunitRec.mindown;
FOR t := 1 TO nperiod DO
BEGIN { Period }
tl = s 1
FOR nl := 1 TO Nstate [t1] DO
BEGIN { State }
IF ( Ustate [t1,n1] >= 1) AND ( Ustate [tl,nl] < mu)
THEN CostMup ( tmp,Vxt,Pxt,lmd,mue,t,n1,Ustate,Path )
ELSE

IF (iUstate [t1,nl] <= -1) AND ( Ustate [t1,nl] > md)

THEN CostMdn ( Vxt,Pxt,t,nl,Ustate,Path )
ELSE

IF Ustate [tl,nl] >= 1

THEN Begin

CostUpDn ( Vxt,Pxtt,nl,Ustate,Path,OneM );

118



CostMup ( tmp,Vxt,Pxt,Imd,mue,t,n1,Ustate Path )
End
ELSE Begin
CostDnUp ( tmp,lmd,mue,Vxt,Pxt,tnl,
Ustate,Path,OneP );
CostMdn ( Vxt,Pxt,t,nl,Ustate,Path )
End;
END; { State }
OnePMstate ( Ustate,t,nl,Nstate,OneP,OneM );
END; { Period }

END; { StateOfUnit }

{ }
PROCEDURE RecoveryPath (VAR pt : PowerPt; VAR ut : CommitPt;
VAR Vsub : TunitArry; i,nperiod : Byte;
Path : PathT; VxtPxt : ValueT );
VAR ptem : LgrMtiplier; utem : StateVector;
Xop,xt : Shortlnt; t : Byte;
BEGIN
Vsub [I] := 9.0E10;
t = nperiod;
FOR xt := -36 TO 36 DO
Begin

IF Vx t[xt,t] < Vsub [i]

THEN Begin
Vsub [i] = Vxt[xt_t];
Xop = Xg
End;
End;

FOR t := nperiod DOWNTO 1 DO

Begin
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xt = Path [t,Xop];
ptem [t] = Pxt [Xop,t];
IF Xop > xt

THEN ufem [f] == 1
ELSE utem [t] = 0;

Xop = Xt

WHILE pt < nil DO
Begin
t =t + 13
ptA.Pr := ptem [t];
pt = pt .LinkP;
utAUr := utem [t];
ut := utALinkU;
End;
END; { Recovery Path - Save P,U }
(- ===}
PROCEDURE TsubProblem ( VAR P : Powér; VAR U : Commit;

VAR Vsub : TunitArry; VAR Tup : PtTunit;
Imd,mue : LgrMtiplier; nperiod : Byte );
VAR Path : PathT; pt : PowerPt; |
VxtPxt : ValueT; ut : CommitPt;
i : Byte; tmp : PtTunit;
BEGIN
tmp = Tup; i = 0;
WHILE tmp <> nil DO
Begin
i = i+1; GotoXY(28,15); Writeln(' Unit "i:5 );

pt = P [i];
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ut = U [i];

StateOfUnit ( tmp,nperiod,Path,lmd,mue,Vxt,Pxt );

RecoveryPath ( pt,ut,Vsub,i,nperiod,Path, Vxt,Pxt );

tmp := tmp/.LinkT;
end;
.END;
{

END.

{ ke sk ke o ok ke o e ok ok e ke ok ke ok e o ke sk ke ke ke s ok ke S ke sk ke sk ke sk ok ok o s sk sk e sk sk sk sk sk sk sk sk sk 3 ke sk ke sk sk ke sk sk ok sk sk sk ok }

UNIT ECONDP;

INTERFACE

USES CRT,INPUTDT, TSUBPROP;

TYPE CostPt = ACostNode;
CostNode = RECORD

Cr : Real;
LinkC : CostPt
END;
VAR Cits,Citl :  CostPt;
Ect,Sct : Real;

PROCEDURE EconDispat( VAR Tup

VAR P : Power; U :

PROCEDURE CostEcon( VAR Ect,Sct :
VAR Cits,Ctl :

PROCEDURE OutputUC( U : Commit; P :

Ect,Sct : Real; nunit :

IMPLEMENTATION
{

Commit; Imd :

Real; Tup :
CostPt; P :

: PtTunit; VAR Rqp : PtReq;

LgrMtiplier );
PtTunit;

Power );

Power; Cts,Ctl : CostPt;

Byte );

PROCEDURE EconDispat( VAR Tup

VAR P : Power; U :

VAR tmT : PtTunit; pt : Power;

Commit; Imd :

: PtTunit; VAR Rqp : PtReq;

LgrMtiplier );
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tmR : PtReq; ut : Commit;
ti : Byte; k : Word; ch : char
Psum,Dm,Ed,Err : Real;
PROCEDURE PowerComput( VAR tmT : PtTunit; VAR pt : Power;
Imd : LgrMtiplier; i,t : Byte );

VAR kl1,k2,tem,pm,px : Real;

BEGIN
k1 := tmTA.TunitRec.cfuel.b;
k2 := tmTA.TunitRec.cfuel.c;

tem := (Imd[t] - k1)/(2*k2);
ptli]J*Pr = tem;

pm := tmTA.TunitRec.pmin;
px := tmTA.TunitRec.pmax;

IF tem < pm

THEN pt[i]*.Pr = pm;
IF tem > px
THEN pt[i]*.Pr = px

END; { Power Compute }
PROCEDURE UpdatLmd( VAR Imd : LgrMtiplier;
Dm,Psum : Real; t : Byte; k : Word);
VAR tem,r : Real;
a,b : Integer;
BEGIN
a := 100; b = 10;
r = 1/@a + (b*k);
tem := Dm - Psum;
Imd[t] := Imd[t] + (r*tem);
END; { Update Lampda }

BEGIN



tmR := Rqgp; t = 0

WHILE tmR <> nil DO

Begin

k =01t = t+1;

REPEAT

k =

tmT

k + 1; Psum := 0

= Tup; i = 0;

WHILE tmT <> nil DO

Begin

i=1+1;
IF ut[il*.Ur = /1

THEN Begin

PowerComput(tmT,pt,Imd,i,t);

Psum := Psum + pt[i]*.Pr;
End;

tmT := tmTA.LinkT;

End; { nunit }

Dm

:= tmR".ReqRec.demand;

Ed := Abs(Psum - Dm);

IF Ed > Err

THEN UpdatL md(lmd,Dm,Psum,t,k);

UNTIL
tmR :

tmT =

WHILE

Begin
1=

ptli]

(Ed <=Err) OR (k >=2000);
tmRA LinkR;
Tup; 1 = 0;

tmT < nil DO

i+ 1;

:= pt[i]*.LinkP;
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ut[i] = ut[i]*LinkU;
tmT := tmTALinkT;
End;

End; { nperiod }
END; { Economic Dispatch }

A

PROCEDURE CostEcon( VAR Ect,Sct

VAR Cts,Ctl :

VAR cl,c2,c3,st,ct : Real;
r1,r2,r3,r4,po : Real;
sl1,s2,t1,t2 : CostPt;
Ecost,Scost  : TunitArry;
tmp : PtTunit; x : Shortlnt;
pt : PowerPt; 1 : Byte;
BEGIN
Ect = 0; - Sct ‘== 0O
tmp = Tup; 1 = 0;
WHILE tmp <> nil DO

Begin { while tmp }

i = i+1; Scost[i] := 0;
pt = P[i]; Ecost[i] = 0;
x = tmp/.TunitRec.status;
cl := tmp/.TunitRec.cfuel.a;

c2 := tmp/.TunitRec.cfuel.b;
c3 := tmp/.TunitRec.cfuel.c;
rl := tmp/.TunitRec.cstart.bl;
r2 := tmp/.TunitRec.cstart.b2;
r3 := tmp/.TunitRec.cstart.d;
WHILE pt < nil DO

Begin { while pt }

: Real; Tup

CostPt; P :

: PtTunit;

Power );



IF pt"Pr > 0
THEN Begin { if }
IF x <0
THEN Begin
po = pt\.Pr;
r4 = 1 - Exp(x/r3);

st == (r1*rd) + r2;

cl + (c2*po) + (c3*po*po);

ct =
x5 /17
Scost[i] = Scost[i] + st;

Ecost[i] := Ecost[i] + ct + st;

End
ELSE Begin
po = ptr.Pr;
ct = cl + (c2*po) + (c3*po*po);

e 1;

Ecost[i] := Ecost[i] + ct;

End
End { if }
ELSE Begin
IF x <0
THEN x = x-1
ELSE x:=-1
End;
pt = pt .LinkP;

End; { while pt }

Sct := Sct + Scost[i];
Ect := Ect + Ecost[i];
tmp := tmp/.LinkT;

End; { while tmp }
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tmp = Tup; 1 := O
Ctl := ml; Cts = nil;
WHILE tmp <> nil DO
Begin
i=i+1;
New(s2);
IF Cts = nil THEN Cts := s2
ELSE sIALinkC := s2;
sl = s2;
sINCr := Scost[i];
New(t2);
IF Ctl = nil THEN Ctl = 2
ELSE tIALinkC 37 2;

t1ACr = Ecost[i];
tmp := tmp/.LinkT;
End;
sINLinkC := nil;
tIALinkC := nil;
END; { Total Cost => Economic Dispatch }

{
PROCEDURE OputCost ( Cts,Ctl : CostPt; Ect,Sct :

VAR " cs,ct : CostPt; tik : Byte;
Cf,Fct : Real; ch : Char
PROCEDURE HeadCost;
VAR t : Byte;
BEGIN
GotoXY(36,3); WriteLn('C O S T");
GotoXY(9,5); FOR t := 1 TO 15 DO

Write("****");  WriteLn;

Real );
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GotoXY(13,6); Write('Plant’);
GotoXY(25,6); Write('Fuel Cost');
GotoXY(40,6); Write('StartUp Cost');
GotoXY(57,6); Write("Total Cost");
GotoXY(9,7); FOR t =1 TO 15 DO
Write('----"); WriteLn;

END; { Head Cost }

BEGIN
Clrscr; DisplayBoard(21,60);
HeadCost; k == 7; 1 = 0
cs = Cts; ct = Cth
WHILE c¢s <> nil DO
Begin

k =k+1; i = i/+/Y,
GotoXY(12,k); Write('Unit',i:3);
cf = cthCr - es)\Cr;
GotoXY(25,k); Write(cf:10:0);
GotoXY(40,k);  Write(csN.Cr:10:0);
GotoXY(57,k);  Write(ct.Cr:10:0);
IF i MOD 12 = 0 THEN
Begin

ch := ReadKey; Clrscr;

DisplayBoard(21,60);

HeadCost; k

.

%
End;
cs = csALinkC; ct :

ctA LinkC;
End;
k = k+2 Fct := Ect - Sct;

GotoXY(9,k); FOR t =1 TO 15 DO



Write('====");
GotoXY(13,k+1); Write(TOTAL');
GotoXY(25,k+1);  Write(Fct:10:0);
GotoXY(40,k+i); Write(Sct:10:0);
GotoXY(57,k+1);  Write(Ect:10:0);
GotoXY(9,k+2); FOR t =1 TO 15 DO
Write('====");

ch := ReadKey;
END; { Output Cost }
PROCEDURE OutputUC( U : Commit; P : Power; Cts,Ctl : CostPt;
Ect,Sct : Real; nunit : Byte );
VAR op : Char
PROCEDURE OputCommit ( U : commit; nunit : Byte );
VAR kit : Byte; ch : Char;
ut : CommitPt;
PROCEDURE HeadUcom;
VAR t : Byte;
BEGIN
GotoXY(32,3); WriteLn(UNIT COMMITMENT");
GoteX Y.(16,5);.. Write(C k¥ hiphgokskxn.
GotoXY(26,5); FOR t :== 1 TO 12 DO
Write("***"); WriteLn;
GotoXY(17,6); Write('Period’);
GotoXY(25,6); FOR t := 1 TO 12 DO
Write(t:3); WriteLn;
GotoXY(25,7); FOR t = 13 TO 24 DO
Write(t:3); WriteLn;
GotoXY(16,8); Write('-------- ");
GotoXY(26,8); FOR t := 1 TO 12 DO

Write('---"); WriteLn;



END; { Head Unit Commitment }
BEGIN

Clrscr; DisplayBoard(21,48);

HeadUcorﬁ; k =7

FOR i := 1 TO nunit DO

Begin
k =k + 2
ut = U[i];

GotoXY(17,k); Wrife(’Unit',i:3);
GotoXY(25k); FOR t := 1 TO 12 DO
Begin
Write(utA.Ur:3);
ut = utALinkU;
End; WriteLn;
GotoXY(25,k+1); FOR t := 13 TO 24 DO
Begin
Write(utA.Ur:3);
ut = utALinkU;
End; WriteLn;
IF i MOD 7 = 0 THEN
Begin
ch := ReadKey; Clrscf, ko= T3
DisplayBoard(21,48); HeadUcom;
End;
End; { nunit }
k =k + 2
GotoXY(16,k); Write(kkkkskaakskr).
GotoXY(26,k); FOR t := 1 TO 12 DO
Write("***");  WriteLn;

ch = ReadKey;



END; { Output Commitment }
PROCEDURE OputPower ( P : Power; nunit : Byte );
VAR pt : PowerPt;
kit : 'Byte; ch : Char;
PROCEDURE HeadPower;
VAR t : Byte;
BEGIN

GotoXY(28,3); WriteLn(' ECONOMIC DISPATCH");

GotoXY(4,5); Write('#k¥kkkokkokry,
GotoXY(14,5); FOR t :== 1 TO 12 DO
Write(*****"):  'WriteLn;
GotoXY(5,6); Write("Period);
GotoXY(13,6); FOR t := 1 TO 12 DO
Write(t:5); WriteLn;
GotoXY(13,7); FOR t := 13 TO 24 DO
Write(t:5); WriteLn;
GotoXY(4,8); Write('------—---- %
GotoXY(14,8); FOR t := 1 TO 12 DO
Write('----- ");  WriteLn;
END; { Head Power }
BEGIN
Clrscr; DisplayBoard(22,70);
HeadPower; k = 7;
FOR i := 1 TO nunit DO

Begin
k =k + 2
pt = Pli];

GotoXY(5,k);  Write('Unit',i:3);
GotoXY(13,k); FOR t := 1 TO 12 DO

Begin
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Write(ptA.Pr:5:0);
pt := ptM.LinkP;
End; WriteLn;
GotoXY(13,k+1); FOR t := 13 TO 24 DO
Begin
Write(pt”.Pr:5:0);
pt = ptA.LinkP;
End; WriteLn;
IF i MOD 7 = 0 THEN
Begin
ch ="ReatiKey;  Clrsct;~k = 7;
DisplayBoard(22,70); HeadPower;
End;
End; { nunit }
k =k + 3;
GotoXY(4,k);  Write(Pe#kikiokiokt),
GotoXY(14,k); FOR t = 1 TO 12 DO
Write('#k*skkr).
ch := ReadKey;
END; { Output Power }
PROCEDURE GetOutput ( VAR op : Char );
BEGIN
Clrscr;  DisplayFrame(5,22);
GotoXY(31,8); WriteLn('UNIT COMMITMENT");
GotoXY(31,10); Writan('U - UC Schedule");
GotoXY(31,11); WriteLn(P - Econ. Dispatch’);
GotoXY(31,12); WriteLn('C - Cost ‘);
GotoXY(31,13); WriteLn(E - Exit ");
GotoXY(32,15); WriteLn('Option ==>>";

REPEAT
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GotoXY(45,15);
op := Upcase(ReadKey)
UNTIL. op in .[U,P,C,E};
WriteLn(op);
END; { GetOutput }

BEGIN { Output UC }
REPEAT
GetOutput(op);
Case op OF
U' : OputCommit(U,nunit);
P' : OputPower(P,nunit);
'C' : OputCost(Cts,Ctl,Ect,Sct);
'E' : WriteLn;
END { case }
UNTIL op = 'E}
END; { OutPut UC }

{
END.
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D - Display
C - Change
E - Exit
Option ==>> _

U ¥4 uermamyvesdeyamioaiuiialuih

) a4

Tuydmsudoyaveuniosduida iy Tidedeslfidendail

] -

dmfumstleudeyaluniludoyalni wSodlumsmu@udoyaluuily

6C_9

JoyaAy

6__

dmfunmsuaastoya hilegluuiludoya

({4} 1

°o . Y a da
dmiumsud ludoyaduniiog
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dmiumseennmyvesdeyanieduiialih weliddudeya

amanudsImsuazmdwandisesluszuy
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v A
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Wumstleudeyaveunseasuiialth deyafitlouszilsznoudas 4 dau fe

1) Unit number

a 4 @ ° < o 4
mnovgiialifousuiluduavinnufvuin  ENTER ud2 18850 vsa)

b 4
- nsdifuniludoyalmilitlousuSosdrdy dud 123

9)gecccs

= 3 a 9 1 o w 1 ° a a
- nstifuuitudoyadulifloudus vedry ANV IUIUYUMAN

= 2 (SR L]
- nydaSeaumstloudoya Miflouay “0” ud) ENTER

Unit number : 1

Fuel Cost = a + bP + cP**2

U w5y Houdeyamsosiuiialnih

2) Fuel cost function

" @ a % . 2 o '
dlunsfloumdualsz@niues Fuel cost function dufluaunisideass doush

Huavrurueswds ENTER a2 18deg1 vs2)

Unit number : 1

Fuel Cost = a + bP + cP**2

=> a = 820 b = 9.023 ¢ = 0.00113
Start Up Cost = bl (1 - exp (-x/T)) + b2

== bl =

N v52) Heudeyamioasuiianih

3) Start up cost function

1 @ a o : )
dumstlousdulsz@nsues Start up cost function FailuaumsuuuEn T

Woa  teusuihumviuaussuds ENTER Az v5(3)



Unit number : 1

Fuel Cost = a + bP + cP**2

==> a = 820 b = 9.023 ¢ = 0.00113
Start Up Cost = bl(1 - exp (-xT)) + b2

==> bl = 2050 b2 = 825. T =4

Minimum power > Pmin(mw) =

UM v53) doudoyamioasduiialvih

4) TasiaveunToatuiialiih
- Minimum & Maximum Power
Hloumiasiiavesidamsnda Wumusuiussa
- Minimum Up & Down Time
'ﬁauﬁﬁﬂﬁwﬁ'ﬂnm‘lumsm“um?muaznqmﬁum?'m Huavs iy
- Status 5ud
floushamuzvesniosduiia Iihlunas udy duavi iy
floudeoyauds ENTER 21833107 vs4) ilouduadvezndy mroauyiia

Tu 1) dnidlureseu

Unit number : 1
Fuel Cost = a + bP + cP**2
=> a = 820 b = 9.023 ¢ = 0.00113

Start Up Cost = bl (1 - exp (-xT)) + b2

==> bl = 2050 b2 = 825 T =4
Minimum power > Pmin(mw) = 300
Maximum power > Pmax(mw) = 1000

Minimum Up time > MinUptr) = 5
Minimum Down time > MinDn(hr) = 4

Statusat t=0 > x(0) = -4

JUN v5@) HoudeyanTesduiialiih
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v v b4
Wumsuansfoyavounieaiuilawthiifiogluuiludeya wuaasdoyaniiay

3 gila 10 Enter vzudastoyayadely &a3ui ve

Unit no. 1

Fuel cost = 820.00 + 9.0230 P + 0.001130 P**g
Start up cost = 2050.00(1 - exp(-x/4.0)) + 825.00

Min Power = 300.0 mw. Max Power = 1000.0 mw
Min Up Time = 5 hr. Min Down Time = 4 hr

Imitial Status x(0) = 4

Unit no. 2

Fuel cost = 400.00 + 7.6540 P + 0.001600 P**2
Start up cost = 1460.00(1 - exp(-x/3.0)) + 650.00
Min Power = 130.0 mw. Max Power = 400.0 mw
Min Up Time = 8 hr. Min Down Time = 2 hr

Initial Status x(0) = 5

Unit no. 3

Fuel cost = 600.00 + 8.7520 P + 0.001470 P**2
Start up cost = 2100.00(1 - exp(-x/4.0)) + 950.00
Min Power = 165.0 mw. Max Power = 600.0 mw
Min Up Time = 2 hr. Min Down Time = 4 hr

Initial Status x(0) = 1

11 v6 wanadeyaveunieaduiia I luszuy

6 _»

daen “c

dumsudlvfoyavounsosiuialith  IWfloumnuaveinfidosnsudly
2 b 4
1$1 vy 8 ENTER  usunsuezuanidoyauos Unit no. 8 1iioasinaeudnnis &4
11U v7(1)

v



Unit number - to be corrected 8

Unit no. 8

Fuel cost = 400.00 + 7.7620P + 0.001710 P**2
Start Up Cost = 1376.00( 1 - exp (x/3.0)) + 550.00
Min Power = 110 mw Max Power = 375.0 mw
3 bhr

Min Up Time = 1 hr Min Down Time

Initial Status x(0) = -1

Unit number :

U v7(1) wamamsud lvdeyamioaduiialuih

dlideanisudludoya tloway “0” #i Unit number 182 ENTER  $1doams

uflvdoyatlouninomvyila ENTER  udadenuf ludoyanidesmsdromsna ©

Houdoyadsgilin v7(2)

<

R

»

=
392

Unit number - to be corrected 8

Unit no 8

Fuel Cost = 400.00 + 7.7620 P + 0.001710 P**2
Start Up Cost = 1370.00( 1 - exp (-x/3.0) ) + 550.00
Min Power = 110 mw Max Power = 875.0 mw
Min Up Time = 1 hr MinD;)wn Time = 3 hr

Initial Status x(0) = -1
Unit number : 8

Change => Fuel Cost (Y/N) ? N

Change => Start Up Cost (Y/N) ? Y

= bl =

51N v72) uamamsud lvdoyanioeduialvdh
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fumsesnanmyvesdeyainiostuiia lifh e Tdedudoayasinny

doams waziawwandisesluszuy

;3 b4 o & a o

Vv1.2 19y & &

dieeennnmyvestoyaniestuialiih  szlddoniudegui v sxifiumsls

Hlouveudludoyaniiogusodauiudoyalm

Demand & Reserve Requirement_File name :_

o

s vs Houveuiludeyavesnnudesnsuazidwandises
vuesdwaiunsileuseuibidoyaveaniosiuilalnih  lunsddaudtudoya
Tmivzlddqun w3 deldlaufludoyalmindy mstloudeyavtloummedniu

o & Aa e ° <] @ §
@04M15 ( Demand ) A MAINAATITO ( Reserve ) Wu@usawduuan AN v

INPUT Requirement Data

Period [hr] Demand [mw] Reserve [mw]

1 1025 85
2 1000 - 85
3

17 vo Houdoyanmudesnsuazidmdndisos
dunsdifidesmsudtudoyaiil$lunsisonsai Widondoudtudoya fail
fie “DR10”, "DRs3” , "DR110”  FufluFeuttudeyannudeemsunssridmaadisos
dmiuszuvvia 10 gila 53 gila uaz 110 giamud ey deflouseudr ENTER oz

T8yasgi vio
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Requirement Data

D - Display
C - Change
E - Exit

Option ==>> _

11U v10 wydeyamanudesmsuasidwdadises

b4
Tuydmivdeyavesnnudesmsuas dwdadses Indedesiidendail

[13 bRl

° [ 3 Aa ] 9/
D" dwmiumsuaastoya nilegluuiiudoya

3 »

o W ¥ a da
c” dmiumsudludeyadunile

Y

113 »

Ed
E” dwmiumsesnnnuyvesdeyamanudesns umsiadeduluday

nmstloudeoya oz lldadmms suTusunsudea
d' A 1 @ A IS a [ :ly
Weenusazaudon vziiswvaziduadall

guaen “c”
Wileumunamdesnsudludoya wu munanit 3 Tisunsuszuanadoya
v v 1 4 v
oA 3 ensasnasudnass  Mifleusndsenisudluumuswouduuan

93N vi1 (1)

V¥

Time (period) - to be corrected 8

Period 3

Demand = 1000 mw Reserve = 65 mw
Period 3

Demand = 900_

U 1) wamensudluvdeyannudesmsuasidwandises
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e hideanisudludoyauds floway “0” ENTER A3 v11(2)

Time ( period) - to be corrected 0_

[ b 4
51U v11(2) ugrasmsaugamsud lvdoyannudeenis

@aden "D”

P P D o < 4
vuanstoyanilogluuiudoya Taouannssaz 12 $2104 e ENTER vsuaag

Joyagadell Az viz

Period [Hr] Demand [mw] Reserve [mw]
1 1025 85
2 1000 85
3 900 65
4 850 55
5 1025 85
8 1400 110
7 1970 165
8 2400 190
9 2850 210
10 3150 230
11 3300 250
12 3400 275

N w12 uansdeyanudeamsuazmdawdadisedluszu

v2 mssulisunsy

4
msfuve Isunsvesiu 2 duaeu e

v2.1 fuilymgea
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Tuszwiemsdinuilymgda  szuanwwamgdaluudas Tteration azszian

£ 4 v
droh vaztudidsdnnuilymdesvesginla dagudi vi3

Iteration 8
Dual value = 286854.83

Unit 5

1 ¥13 waasszniunsdunuilymgsa

o L a o

2.2 i) y

g < 2L ° (% 4 v & o w a
wowdvdunsfnnilymeda  suumsassaeudon luifuismaa
d1ee  Fedwadns iaeandeosdudouludindn  Tusunsuezdfush multiplier 1142
fnuilymdos  lussniumsdnnuzuaai i teraton wazgiafitididimin

Hymees Agi vi4

Iteration 5

Unit 9

7N v14 szrdinumsdiusldaeandestuidon luilifusuiu
Wonadniaeandesiulen lulsdumdwdadises  suflumsdaunsie
Ivamednlsznda  szuamsmunafidne A vis

Period 8

U w15 SurumsteTnanedelsenda

4
Y3 MIUTAAINAANT
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dioSsaumsiuin o2 18ydsgUin vie

UNIT COMMITMENT

U - UC Schedule

P - Econ. Dispatch

C - Cost
E - Exit
Option ==> _

UM w16 wydmiunaawadwiilymglianouianud

V¥

o o Y

d'l & 1 £y A w =1
WolaonuAaTAIABN VTUAAINAANTAL
duden U’

Wunsuaasaouznsnoulamuavaunsesnuiia i Tae”1” wineds iy

A y « 9 < a A4 o 4'
NT93 AU 0 WUIYDN NYAAULINTBN ﬂqz‘lh’l V17

UNIT COMMITMENT

Period 1 2 84 56 7 8 9 10 11 12

13 14 15 16 17 18 19 20 21 22 23 24

Unit1 0 O 00 0O OO O 1 11

1 1% & a1 L.1.-0 0 0
Unit 2 11 1 1 1 1 1 1 1 1 11
1 1-1 .1 -1 % 1.1 1 1
Unit3 1 0 00 00 0 1 1 1 11
11 1 1.11:1:0:0.0 0
Unit4 0 O 0 O 00 11 1 1 1 1
1111111100 O O
Unit 5 0 0 0 0 0 0O 00 OO OO
00 00 00 0O OO OO

710 417 yamsanuzmsneulamudveunsoanuila lwih
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AumsuaasfSuumsieTnanveuniesduiia i luszuy Az v1s

ECONOMIC DISPATCH

Period

1 2 3 4 5 6 7 8 9 10 11 12
13 14 15 16 17 18 19 20 21 22 23 24

Unit 1

Unit 2

Unit 3

Unit 4

0 0 0 0 0 0 o0 0 0 424 475 510
467 355 300 300 300 441 476 338 0 0 0 0
400 400 400 387 400 400 400 400 400 400 400 400
400 400 400 400 400 400 400 400 400 400 400 400
184 0 0 0 0 0O 0 206 468 418 458 484
451 365 296 252 303 431 458 352 O 0 0 0

0 0 0 0 o 0 410 397 420 420 420 420

420 420 397 354 404 420 420 420 0 0 0 0

i 118 wamalSinanisseTnaaveunsesiuia lWih

dden “c”

v b 4
Aumsuaasmldielumsnan Falsznoudlomldieveausomas

U 9/
R CARY

A 4 ' a v a - @
Fudunied uazmldnwswlunsndalifhwewdazyiin wazwaswiiszuy uansd

511 w19
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s sk sk sk sk sk sk sk sk s ke e ok sk sk sk sk sk sk s sfe sk sk sk sk sk e e sk sk sk sk sk st sk ske sk ske sk sk sk keokskok sk sk skekoskokokesk sk ke sk ke sk sk ke ke

COST

Plant Fuel Cost StartUp Cost Total Cost
Unit 1 50641 2796 53437
Unit 2 89104 0 89104
Unit 3 57060 2581 59641
Unit 4 57818 1930 59748
Unit 5 0 0 0
Unit 6 40887 1610 42497
Unit 7 0 0 0
Unit 8 67473 1785 69208
Unit 9 118874 0 118874
Unit 10 34540 1804 36344
TOTAL 516399 12455 528854

1l# 19 uaasdunumldnelumsnaarih

@duaon “E”

b4 = a g
Mumsosnanns Iauldsunsuglinnouliamud
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MANHIN A

i

szudlwvhmds vina 10 giia

foyaitlilumsdnnumgianouiiamud veeszuyliihdids vuna 10 il

1szneudae
a1sn a1l Jeyatoulvves nFosduiialiih
9 o ar v 4{ a a &
3N a2 deyadlinsunudomas Junmisiunsos
Y] Lo A 9 A a A
a5 a3 Peyailengumldons lumsSuRunses
M15N A4 Joyanudesmsmias Il uay fdwaadses
NP L7
nawnseag luszsuy
m3n Al Jeyaiteulvves insesduilanih
Pmin Pmax Min. Up Min. Down Initial
(MW) MW) Time (hr) Time (hr) Status (hr)
Unit 1 300 1000 5 4 4
Unit 2 130 400 3 2 5
Unit 3 165 600 2 4 1
Unit 4 130 420 1 3 2
Unit 5 225 700 4 5 8
Unit 6 50 200 2 2 K
Unit 7 250 750 3 4 6
Unit 8 110 375 1 3 1
Unit 9 275 850 4 3 2
Unit 10 75 250 2 1 E
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9 &Y U 47 a a A
AN A2 ﬂagaﬂaﬂmumwamm 11Jﬂ'litﬂulﬂ§'i’)d

[CP) = a+bP +cP ]

a b c
Unit 1 820.0 9.023 0.00113
Unit 2 400.0 7.654 0.00160
Unit 3 600.0 8.752 0.00147
Unit 4 420.0 8.431 0.00150
Unit 5 5400 9.223 0.00234
Unit 6 175.0 7.054 0.00515
Unit 7 600.0 9.121 0.00131
Unit 8 4000 7.762 0.00171
Unit 9 725.0 . 8.162 0.00128
Unit 10 200.0 8.149 0.00452

msn a3 Jeyadladduaildsne lumsSu@unio
{ S(X) = bl{l-exp[-x/T]]+b2 }

bl b2 T
Unit 1 2050.0 825.0 4.0
Unit 2 1460.0 650.0 3.0
Unit 3 2100.0 A 950.0 4.0
Unit 4 1480.0 650.0 4.0
Unit 5 2100.0 900.0 3.0
Unit 6 1360.0 750.0 2.0
Unit 7 2300.0 950.0 4.0
Unit 8 1370.0 550.0 3.0
Unit 9 2200.0 950.0 ' 4.0
Unit 10 1180.0 625.0 ‘ 2.0
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Time Demand Reserve Time Demand Reserve
(hr) (MW) (MW) (hr) (MW) (MW)
1 1025 85 13 3275 240
2 1000 85 14 2950 210
3 900 65 15 2700 200
4 850 39 16 2550 195
5 1025 85 17 2725 200
6 1400 110 18 3200 220
7 1970 165 19 3300 250
8 2400 190 20 2900 210
9 2850 210 21 2125 170
10 3150 230 22 1650 130
11 3300 250 —23 1300 100

12 3400 275 24 1150 90




MANUIN 3

v

doyaszuulihmas vina 53 giin
Y = ° 1A a s o o a
FoyanlFlumsdnnumyilanouianud  vosszuyIdihdds vina 53 giia
18 nngetn Yeyafdin1snanues Scenario A Tusiea EPRI [19]  Taglduiulgs
dududeyausdn minzausumsdiudgianeuiiauud  doyasznoudae
asn a1 doyadeulvvea inseasuilalnih
3 o o/ U 47 a a A
i 2 Yeyaendudusomas lumsiiunios
9 d U FA A a 4'
M3 3 Joyafengumidaie lumssuaunios
¥

min 4 Teyannudeanisiidalnih uaz Midwdadises

a a & [
NAunIoy Iuszu

b A A o a
M3 91 doyaoulvves nsesduilaluih

Capacity Pmin Pmax Min. Up Min. Down

(MW) (MW) (MW) Time (hr) | Time ( hr)
Unit 1 1200 600 1200 12 12
Unit 2 1000 500 1000 12 12
Unit 3 800 320 800 12 12
Unit 4-7 600 240 600 9 9
Unit 8-12 400 160 400 7 7
Unit 13-29 200 80 200 4 4
Unit 30-53 50 20 50 2 2
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b 7 o U dy a a &
A1TN 32 vayaﬂaﬂ‘vumwamm 1umsmwﬂsm

[C® = a+bP +cP ]

a b c
Unit 1 756.70 3.2842 0.000638
Uint 2 630.45 3.2846 0.000765
Unit 3 916.42 8.2409 0.001392
Unit 4 648.94 8.7805 : 0.001363
Unit 5 648.94 8.8805 0.001363
Unit 6 648.94 8.9805 0.001363
Unit 7 648.94 9.0805 0.001363
Unit 8 414.62 8:7377 0.002564
Unit 9 414.62 8.8377 0.002564
Unit 10 414.62 \ 8.9377 0.002564
Unit 11 722.08 15.2084 0.004466
Unit 12 722.08 15.3084 0.004466
Unit 13 249.29 9.0515 0.005510
Unit 14 249.29 9.8515 0.005510
Unit 15 249.29 9.1515 0.005510
Unit 16 249.29 99515 0.005510
Unit 17 249.29 9.2515 0.005510
Unit 18 249.29 10.0515 0.005510
Unit 19 249.29 9.3515 0.005510
Unit 20 249.29 10.1515 0.005510
Unit 21 249.29 9.4515 0.005510
Unit 22 249.29 10.2515 0.005510
Unit 23 249.29 9.5515 0.005510
Unit 24 249.29 10.3515 0.005510
Unit 25 249.29 9.6515 0.005510
Unit 26 249.29 ‘ 10.4515 0.005510
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a b c
Unit 27 249.29 9.7515 0.005510
Uint 28 433.08 15.7178 0.009584
Unit 29 433.08 15.8178 0.009584
Unit 30 72.16 10.4808 0.025520
Unit 31 72.16 11.6808 0.025520
Unit 32 72.16 10.5808 0.025520
Unit 33 72.16 11.7808 0.025520
Unit 34 72:16 10.6808 0.025520
Unit 35 72.16 11.8808 0.025520
Unit 36 72:16 10.7808 0.025520
Unit 37 72.16 11.9808 0.025520
Unit 38 72.16 10.8808 0.025520
Unit 39 72.16 12.0808 0.025520
Unit 40 72.16 10.9808 0.025520
Unit 41 2116 12.1808 0.025520
Unit 42 72.16 11.0808 0.025520
Unit 43 72.16 12.2808 0.025520
Unit 44 72.16 11.1808 0.025520
Unit 45 72.16 12.3808 0.025520
Unit 46 72.16 11.2808 0.025520
Unit 47 72.16 12.4808 0.025520
Unit 48 72.16 11.3808 0.025520
Unit 49 72.16 12.5808 0.025520
Unit 50 72.16 11.4808 0.025520
Unit 51 72.16 12.6808 0.025520
Unit 52 72.16 11.5808 0.025520
Unit 53 72.16 12.7808 0.025520
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> o 1 9 a a A
AT N 33 ‘uayaﬁaﬂmum‘hma ‘luﬂmsumumsm

{ S(X) =bl[1-exp[-x/T]]+b2 }

bl b2 T

Unit 1 2000 1000 10

Unit 2 1800 1000 10

Unit 3 1500 950 8

Unit 4-7 1200 900 8
Unit 8-10 840 650 7
Unit 11-12 1400 650 7
Unit 13-27 780 700 d
Unit 28-29 1300 700 3
Unit 30-53 660 450 ]
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Time Demand Reserve Time Demand Reserve
(hr) (mw ) (mw ) (hr) (mw ) (mw )
1 6277 502 13 10030 802
2 6123 490 14 9563 765

6100 488 15 9898 792
4 6015 480 16 9767 780
5 6086 487 1¥7 9365 749
6 6570 525 18 9345 747
7 7388 590 19 9034 722
8 8806 704 20 9444 755
9 9739 779 21 9748 780
10 10016 800 22 9412 753
11 10200 816 23 8730 698
12 10060 804 24 7985 638
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& uendied Joyafain1swanues Scenario A Tusiwau EPRI [19]  TagldulSulga

iudutoyausduiimunzauiumssnnusgianeuiiawug Jeyalsznoudae

M5 91 Joyatou lvves mFeeduiia Inih

£y 2o’ 7y A a a &
ANTN 92 ﬂlaya‘WQﬂﬁuﬂ']l‘ﬁalwaQ Tumsiaunseg

9) LY 1 3 a a A
AT 3 ‘Uﬂy'ﬁﬂﬂﬂﬂﬂlﬂﬂ‘lﬁﬁﬁ “luﬂmsmﬂumsaa

MW w4 Jeyannudeamsniaa Wi uaz AMdwwdadises

da 5/

nAunseteg luszuy

M58 91 Yeyaou lyves inTeaduiialih

Capacity Pmin Pmax Min. Up Min. Down

(MW) (MW) (MW) Time (hr) | Time (hr)

Unit 1-2 1200 600 1200 12 12
Unit 3-5 1000 500 1000 12 12
Unit 6-7 800 320 800 12 12

Unit 8-19 600 240 600 9 9
Unit 20-34 400 160 400 7 7
Unit 35-86 200 80 200 4 4
Unit 87-110 50 20 50 2 2
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[C®) =a+bP +cP ]

155

a b c
Unit 1 756.70 3.2842 0.000638
Uint 2 756.70 3.3842 0.000638
Unit 3 630.45 3.2846 0.000765
Unit 4 630.45 3.3846 0.000765
Unit 5 630.45 3.4846 0.000765
Unit 6 916.42 8.2409 0.001392
Unit 7 91642 ‘ 8.3409 0.001392
Unit 8 648.94 8.7805 0.001363
Unit 9 648.94 8.8805 0.001363
Unit 10 648.94 8.9805 0.001363
Unit 11 648.94 9.0805 0.001363
Unit 12 648.94 9.1805 0.001363
Unit 13 648.94 9.2805 0.001363
Unit 14 648.94 9.3805 0.001363
Unit 15 648.94 9.4805 0.001363
Unit 16 648.94 9.5805 0.001363
Unit 17 648.94 9.6805 0.001363
Unit 18 648.94 9.7805 0.001363
Unit 19 648.94 9.8805 0.001363
Unit 20 414.62 8.1377 ~ 0.002564
Unit 21 414.62 8.8377 0.002564
Unit 22 414.62 8.9377 0.002564
Unit 23 414.62 9.0377 0.002564
Unit 24 414.62 9.1377 0.002564
Unit 25 414.62 9.2377 0.002564
Unit 26 -414.62 9.3377 0.002564
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a b c
Unit 27 414.62 9.4377 0.002564
Uint 28 41462 9.5377 0.002564
Unit 29 414.62 9.6377 0.002564
Unit 30 722.08 15.2084 0.004466
Unit 31 722.08 15.1084 0.004466
Unit 32 72208 15.0084 0.004466
Unit 33 72208 14.9084 0.004466
Unit 34 722,08 14.8084 0.004466
Unit 35 24929 9.0515 0.005510
Unit 36 24929 9.1515 0.005510
Unit 37 24929 9.2515 0.005510
Unit 38 24929 9.3515 0.005510
Unit 39 24929 9.4514 0.005510
Unit 40 24929 9.5515 0.005510
Unit 41 24929 9.6515 0.005510
Unit 42 24929 9.7515 0.005510
Unit 43 24929 9.8515 0.005510
Unit 44 24929 9.9515 0.005510
Unit 45 24929 10.0515 0.005510
Unit 46 24929 10.1515 0.005510
Unit 47 24929 10.2515 0.005510
Unit 48 24929 10.3515 0.005510
Unit 49 24929 10.4515 0.005510
: Unit 50 24929 10.5515 0.005510
Unit 51 24929 10.6515 0.005510
Unit 52 24929 10.7515 0.005510
Unit 53 24929 10.8515 0.005510
Unit 54 249.29 10.9515 0.005510
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a b c
Unit 55 249.29 11.0515 0.005510
Uint 56 249.29 11.1515 0.005510
Unit 57 249.29 11.2515 0.005510
Unit 58 249.29 11.3515 0.005510
Unit 59 249.29 11.4515 0.005510
Unit 60 249.29 11.5515 0.005510
Unit 61 249.29 11.6515 0.005510
Unit 62 249.29 11.7515 0.005510
Unit 63 249.29 11.8515 0.005510
Unit 64 24929 11.9515 0.005510
Unit 65 249.29 12.0515 0.005510
Unit 66 249.29 12.1515 0.005510
Unit 67 249.29 12.2515 0.005510
Unit 68 24929 12.3515 0.005510
Unit 69 249.29 12.4515 0.005510
Unit 70 249.29 12.5515 0.005510
Unit 71 249.29 12.6515 0.005510
Unit 72 249.29 12.7515 0.005510
Unit 73 249.29 12.8515 0.005510
Unit 74 24929 12.9515 0.005510
Unit 75 249.29 13.0515 0.005510
Unit 76 249.29 13.1515 0.005510
Unit 77 249.29 13.2515 0.005510
Unit 78 249.29 13.3515 0.005510
Unit 79 249.29 13.4515 0.005510
Unit 80 249.29 13.5515 0.005510
Unit 81 433.08 15.7178 0.009584
Unit 82 433.08 15.8178 0.009584




A5N 92 (AD)

158

a b c
Unit 83 433.08 15.9178 0.009584
Uint 84. 433.08 15.6178 0.009584
Unit 85 433.08 15.5178 0.009584
Unit 86 433.08 154178 0.009584
Unit 87 72.16 10.4808 0.025520
Unit 88 72.16 10.5808 0.025520
Unit 89 72.16 10.6808 0.025520
Unit 90 72.16 10.7808 0.025520
Unit 91 72.16 10.8808 0.025520
Unit 92 7216 10.9808 0.025520
Unit 93 72.16 11.0808 0.025520
Unit 94 72.16 11.1808 0.025520
Unit 95 72.16 11.2808 0.025520
Unit 96 72.16 11.3808 0.025520
Unit 97 72.16 11.4808 0.025520
Unit 98 72.16 11.5808 0.025520
Unit 99 72.16 11.6808 0.025520
Unit 100 72.16 © 11.7808 0.025520
Unit 101 72.16 11.8808 0.025520
Unit 102 72.16 11.9808 0.025520
Unit 103 72.16 12.0808 0.025520
Unit 104 72.16 12.1808 0.025520
- Unit 105 72.16 12.2808 0.025520
Unit 106 72.16 12.3808 0.025520
Unit 107 72.16 12.4808 0.025520
Unit 108 72.16 12.5808 0.025520
Unit 109 72.16 12.6808 0.025520
Unit 110 72.16 12.7808 0.025520
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;Y dar 1 DXl a = A
a9 93 veyailandum e lunmsSuaunisg

{ S(X)=0bl[1-exp[-x/T]]+b2 }

bl b2 T
Unit 1-2 2000 ' 1000 10
Unit 3-5 1800 1000 10
Unit 6-7 1500 950 8
Unit 8-19 1200 900 8

Unit 20-29 840 650 7

Unit 30-34 1400 650 7

Unit 35-80 780 700 5

Unit $1-86 1300 700 5

Unit 87-110 660 450 5
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Time Demand Reserve Time Demand Reserve
(hr) MW) MW) (hr) MW) MW)
1 17218 1034 13 27513 1650
2 16796 1008 14 26234 1574
3 16732 1004 15 27152 1629
4 16500 990 16 26793 1607
5 16695 1002 17 25691 1541
6 18022 1081 18 25635 1538
4 20266 1216 19 24782 1487
8 24158 1449 20 25906 1554
9 26715 1603 21 26740 1604
10 27476 1648 22 25820 1549
11 27980 1679 23 23948 1437
12 27596 1656 24 21906 1314
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